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Ages

1) When | was married 10 years ago my
wife is the 6th member of the family. Today
my father died and a baby born to me.The
average age of my family during my
marriage is same as today. What is the age
of Father when he died ?

a) 50 yrs b) 60 yrs

c) 70 yrs d) 65 yrs

2) A person's present age is two-fifth of the
age of his mother. After 8 years, he will be
one-half of the age of his mother. How old
is the mother at present ?

a) 36 yrs b) 38 yrs

c) 40 yrs d) 42 yrs

3) The ages of Krish and Vaibhav are in the
proportion of 3 : 5. After 9 years, the
proportion of their ages will be 3 : 4. Then
the current age of Vaibhav is:

a) 10 b) 13

c) 15 d) 18

4) Sivagami is 2 years elder than Meena.
After 6 years the total of their ages will be
7 times of their current age. Then age of

Sivagami is :
a) 19 years b) 17 years
c) 15 years d) data inadequate

5) Eight years ago, Ajay's age was 4/3 times
that of Vijay. Eight years hence, Ajay's age

will be 6/5 times that of Vijay. What is the
present age of Ajay ?

a)41yrs b) 40 yrs

c) 37 yrs d) 33 yrs

6) The ages of Xand Y are in the proportion
of 6:5 and total of their ages is 44 years. The
proportion of their ages after 8 years will
be

a)3:6
c) 8:7

b) 6:3
d) 9:5

7) Ten years ago.-A was half of B in age. If
the ratioof their presentagesis 3 : 4, what
will be the total of their present ages

a) 15 b) 25

c) 35 d) 45

8) Ratio of the ages of Mahesh and Nilesh
is 5 : x. Mahesh is 18 years younger to
Ramesh. After nine years Ramesh will be 47
years old. If the difference between the
ages of Mahesh and Nilesh is same as the
age of Ramesh, what is the value of x ?
a)11.8 b) 12.9

c) 13.7 d) 14.5

9) Mother’s age today is thrice as her
daughter’s. After 10 years it would be just
double. How old is the daughter today ?
a) 8 years b) 9 years
c) 10 years d) 11 years
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10) The ratio of the ages of Maala and Kala
is 4 : 3. The total of their ages is 2.8
decades. The proportion of their ages after
0.8 decades will be [1 Decade = 10 years]
a) 4:3 b) 12:11

c)7:4 d) 6:5

11) Raju got married 8years ago. His
present age is 6/5 times his age at the time
of his marriage Raju's sister was 10years
younger to him at the time of his marriage.
The present age of Raju's sister is ?

a) 30 b) 32

c) 38 d) None

12) Six years ago Anita was-P times.as old
as Ben was. If Anita is now 17 years old,
how old is Ben now in termsof P ?
a)11/P+6 b) P/11 +6

c)17-P/6 d) 17/P

13) The age of a person is thrice the total
ages of his 2 daughters. 0.5 decades hence,
his age will be twice of the total ages of his
daughters. Then what is the father’s
current age? [0.5 Decades = 5 Years]

a) 35 years b) 40 years

c) 45 years d) 47 years

14) Sum of the ages of Rajesh, Suresh,
Mahesh and Dinesh is 76 years. 7 years
hence, their age ratio is 7:6:5:8. Find
Mahesh’s present age ?

b) 13 years
d) 16 years

a) 17 years
c) 14 years

15) Sachin is younger than Rahul by 7 years.
If the ratio of their ages is 7:9, find the age
of Sachin
a) 24.5
c) 26.5

b) 25.5
d) 27.5

16) The average age of 80 boys in a class is
15. The average age of group of 15 boys in
the class is 16 and the average of another
25 boys in the class is 14. What is the
average-age of the remaining boys in the
class ?

a) 12.24 yrs
c) 16 yrs

b) 13.25 yrs
d) 15.25 yrs

17) If Raj was one-third as old.as Rahim 5
years back and Raj is 17 years old now, How
old is Rahim now?
a) 40 b) 41
c) 36 d) 48

18) A man is 24 years older than his son. In
two years, his age will be twice the age of
his son. The present age of his son is

a) 20 b) 21

c) 22 d) 23

19) Proportion of Yuvaraj’s age to
Ganguly’s age is 4:3. Yuvaraj willl be 26
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years old after 6 years. What is the age of a) 45, 10 b) 10, 50

Ganguly now ? c)9,50 d) 50, 15

a) 17 years b) 15 years

c) 19 years d) 12 years 24) . A’s age after 15 years would be equal
to 5 times his age 5 years ago. Find his age

20) Ten years ago, Kumar was thrice as old 3 years hence.

as Sailesh was but 10 years hence, he will a)l2 b)13

be only twice as old. Find Kumar’s present c)16 d)18

age?

a) 50 years b) 70 years 25) The product of the ages of A and B is

c) 60 years d) 40 years 240. If twice the age of B is more than A’s
age by 4 years, what was B’s age 2 years

21) If two times of the daughter’s age in ago?

years is included to the-mother’s:age; the a) 10 b)80

total is 70 and if two times of the mother’s c)30 d)40

age is included to the daughter’s age, the

total is 95. So the Mother’s age is, 26) The present age of a mother is 3 years

a) 30 b) 38 more than three times the age of her

c) 40 d) 41 daughter. Three years hence, the mother’s
age will be 10 years more than twice the

22) 0.1 decates ago, Vijaya was quadrice as age of the daughter. Find the present age

old as her daughter Simran. 0.6 decades of the mother.

hence, Vijaya’s age will beat her daughter’s a)10 b)62

age by 0.9 decades. The proportion of the c)33 d)54

current ages of Vijaya and Simran is : [ 0.1

Decates =1 Year; quadrice = 4 times] 27) The ratio of present ages of Aand B is 6

a) 8:1 b) 10:2 : 7. Five years hence, this ratio would

c)11:4 d) 13:4 become 7 : 8. Find the present age of A and
B.

23) Aiisthree times as old as B. C was twice- a)88 b)60

as old as A four years ago. In four years' c)34 d)35

time, A will be 31. What are the present

agesof Band C? Pafe | 3
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28) The present age of Aradhana and
Aadrika is in the ratio 3:4. 5 years back, the
ratio of their ages was 2:3. What is the
present age of Aradhana?

a) 12 years b) 15 years

c) 20 years d) 22 years

29) If the total ages of Igbal and Shikhar is
12 years more than the total age of Shikhar
and Charu. Charu is how many years
younger than Igbal?

a) 11 years b)13 years

c) 15 years d)None of the above

30) A father is twice as-old as his daughter.
If 20 years ago, the age of the father was. 10
times the age of the daughter, what is the
present age of the father?

a) 40 years b) 32 years

c) 33 years d) 45 years
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